# Division (International) with a Helper Grid Name:

Solve each problem. Answers
) 538 : 3 = 2) 234 : 4 =
1.
2.
3.
4,
5.
6.
3) 582 : 6 = 4 450 : 9 =
5 799 : 6 = 6) 414 : 6 =

1-6 |83]|67]50[33][17] 0 |
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ﬂh Division (International) with a Helper Grid Name.Answer Key

Solve each problem. Answers
1) 538: 3 =179r1 2) 234 : 4 =058r2
1 179r1
-3 -0
23 23
2. 58r2
-21 -12/0
28 34 3 97
-1217 -13/2
1 2 4. 50
5. 133r1
6 69
3 582 : 6 =097 4d 450: 9 =050
-0 -0
58 45
.54 -4 5
4 2 00
-142 -0
0 0
59 799 : 6 =133r1 6) 414 : 6 =069
-6 -0
19 41
.18 - 36
119 514
-11/8 -15/4
1 0
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